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Ritp:/farbe i u-berlin. de/BEXE/BEX6LONA.TXT /.PS: start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

CIELABUSG triangle lightness t*

t* Yoc=Yw - nc=100,
t* CiELABUS =66 (Y/Y,)Y30-16  (¥,=18, Y,/100Y<=Y,o)
t+(3,6)=23 t* ,(18)=50 t*,(90)=97

t*9=96,50,y=3,0, 1§=1/3,0=0,3",
t*16=50,00 §,765,49 D= -15,4 3
t°3,622,72,t,=50,0Q Y,=18

t*,=50,00 m,=50,24

application
range

y,=18
Yw=90

CIELABuU6

tristimulus value difference

YoemYw  nc=100,
t* CiELABUS =66 (Y/Y,) Y3 0-16  (Y,=18, Y,/100Y<=Y,0)
log(dY) = (1/3,0) log[3,0¢,/65)] + [1~(1/3,0)] logY)

e

d¥op=13,39,y=3,0: fi11/3,0=0,83
5 —15 49! application
range

1
lv,=18
Yn=3,6 ¥ Yy=90

log (AY/Y) CIELABU6
S=(AYIY) tristimulus value sensitivity

Yoc=Yw nc=100
t* CiELABUS =66 (Y/Y,) Y3 0-16  (¥,=18, Y,/100Y<=Y,o)
log(@dY/Y)= log[3,0(Y,/65)] - (1/3,0) log¥{/Y,)
= (1/3,0) log[3,0¢,/65)] - (1/3,0) log{)

ey
za
Iog(dY/Y): 0 53 M~ L ::_ ~ . application
* =50, dY,=4,58 dY/Y B 1 "Kﬁ‘nge
1
(dY/Y}5=0,1488y=3,0, 1{=1/3,0=0,33
(dY/Y)g=0,2544 S,=65,49 D,=-15,49
(dY/Y} 60,4342 Y,=18, d\;=4,58
y =18

Yn=3.6 1 Yw=90

CIELABU6
tristimulus value contrast
Cr=(viay) Yo=Yy grne=100
t* CiELABUS =66 (Y/Y,) Y3 0-16  (¥,=18, Y,/100Y<=Y,0)
log(Y/dY)= - log[3,0(/,/65)] + (1/3,0) log{/Y,)
- (1/3,0) log[3,0¢,,/65)] + (1/3,0) log¥)

t*,=50, dY,=4,58 Y,/dY.=2
log(Y/dY)}F0.55 in —Z,52
- -

1
(Y/dY}o=6,71,y=3,0, 1}=1/3,0=0,33
(Y/dY)g=3,92, Sq= 549 D,=—1549 application
(Y/dY} ¢=2,3Q Y,=18, dY;=4,58 1 range
y,=18

Yn=3.6  Yyw=90

CIELABUSG relative triangle lightness t*/t*,

e, Yoc=Yw - nc=100,

* ciELABuG =66 (YY) Y3216 (v,=18, ¥, /100<Y<=Y,)
t(3,6)=23,(18)=50,t* g (90)=07

g/t =1,93,y=3,0, 1=1/7,0=
1100 =684 D,
t3,/t*,=0,45,1%,=50,00 Y=1%,

application
range

p
It =L, m=—0,35 * Y,=18
i L 240,050 Yn=3.6  Yy=90

Iog(AYIAYu) CIELABUS relative

tristimulus value difference
NNy Yoc=Yw - nc=100,
t CieLaBus =66 (Y/Y)30-16  (¥,=18, Y,/ 100<Y<=Y, )
log(dY/dY,) = [1~(1/3,0)] loglf/Y,)

dYey/dY,=2,92,y=3,0, 1y=1/3,0=0,33
dY;/dY,=1,00 §=65,49 Dy=-15,49
dYs,¢dY,=0,34 Y,=18 dY=4,58

p
>
t+,=50, dY,=4,58 dY,/Y,=0,2544

application
range

Y,=18
. —
Yn=3.6
log [(AY/Y) 1 AYIY),] CIELABUS relative
tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

nc
t*CiELABs =66 (Y/Y,) 3016 (Y,=18, Y,/100<Y<=Y,)
log[(dY/V)/(dY/Y),] = - (1/3,0) log¥/Y,)

(dY/Yyo/(dY/Y)=0,58,y=3,0, 14=1/3,0=0,33

(dY/Y)B/(dYIY)Z 1, §=65,49 Dy=—15,49

@YYy d(@YV)=1,70 V.= 18, d\=4, 58 25 ficaton
range

10g[(dY/YY(dY/Y),]=0, m=-2 30

=50, dY,=4,58 d¥,/Y,=0,2544 |
1y,=18

Yn=3.6  Yw=90

log [(Y/AY) 1 (YIAY),] CIELABUS relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

t* ciELABUG =66 (YY) Y3216 (v,=18, Y, /100=Y<=Y,)
log[(Y/dY)/(Y/dY),] = (1/3,0) log¥'/Y,)

(Y/dY)o/(Y/dY)=1,70,y=3,0, 14=1/3,0=0,33
(Y/dY)Yg/(Y/dY)=1,00 65,49 D,=—15,49
(YIdYyd/(Y/dY)=0,58 Y,=18 dY=4,58

application
range

Y,=18
Y=90

CIELABUS triangle lightness T*
T* YoTL*w et
T*CiELABuG =66 (Y/Y) 316 (1,718, Y,/100<Y<=Y, )
T*N(3,6)=23,T*(18)=50,T*(90)=97

96=96,50,y=3,0, 14=1/3,0=0,33
T*16=50,0Q §=65,49 D,=-15,49
T#3,=22,72,1%,750,00 Y=18

T*,=50,00 m,=50,24

application
range

y,=18
Yw=90

BEX61-1A

logAY) CIELABuU6
AY tristimulus value difference
Yoc=L*w - nc=100,
T* CiELABuG =66 (Y/Y) 316 (1,718, Y,/100<Y<=Y, )
log(dY) = (1/3,0) log[3,0¢,/65)] + [1-(1/3,0)] logY)

dYe=13,39,y=3,0"-4=1/3,0=0,43
dY;g=4,58 §=¢",49 D=-15, 49! application
dYs6=1,56 Y,=18 dY=4,58 ! range
ly,=18
Yn=3,6 1 Yyy=90

BEX61-3A

log AY/Y) CIELABu6

tristimulus value sensitivi
S=(@AYH) YomL*w =100 4

nc’
T* CiELABuG =66 (Y/Y) 316 (1,718, Y,/100<Y<=Y,0)
log(@dY/Y)= log[3,0(Y,/65)] - (1/3,0) log¥/Y,)
= (1/3,0) log[3,0¢,/65)] - (1/3,0) log{)

= . application
T*,=50, dY,=4,58 dY,/Y,=0,2544 1 ~-Fange

1
(dY/Yy=0,1488y=3,0, 1§=1/3,0=0,33
(dY/Y)g=0,2544 §=65,49 D,=-15,49
(dY/Y} 60,4342 Y,=18, d\;=4,58

y,=18

Yn=36 1 Yw=90 |

BEX61-5A

log (Y/AY) CIELABU6

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’
T* CiELABuG =66 (Y/Y) 316 (1,718, Y,/100<Y<=Y, o)
log(Y/dY)= - log[3,0(,/65)] + (1/3,0) log¥/Y,)
~ (1/3,0) log[3,0¢,/65)] + (1/3,0) logy)

T* =50, dY,=4,58 Y,/dY,=3

(Y/dYy=6,71,y=3,0, 1§=1/3,0=0,33
(Y/dY)g=3,92 S§=65,49 D;=—1549 application
(Y/dY} ¢=2,3Q Y,=18, dY;=4,58 1 range
1Y,=18
Ya=3,6  Y\y=90

BEX61-7A

BEX61-7N

TUB-test chart BEX6; CIELABugt* & T* for Y/Y, with additional dataYnc=
Absolute and relative lightness, sensitivity and cont&st5,49, 1y=1/3,0=0,33

THT* CIELABUSG relative triangle lightness T*/T*
THT*, Yoc=L*w - nc=100,

T* CieLaBus =66 (YY) 3 %-16  (¥,=18,Y,/100<Y<=Y,0)
T*N(3,6)=23,T*,(18)=50,T*,(90)=97

T*eo/T*=1,93,y=3,0, 1y=1/3,0=0,33 ¥
T*1gT%,=1,00 §=65,49 Di=—15 4¢ ¥
T*3,dT*=0,45,T%,=50,0Q Y=1,

application
range

THT* =1, m=—0,38" Y,=18

L* =49, T*,=50 Yn=3,6  Yw=90
BEX61-2A
log(AY/AY,)

CIELABUG relative

tristimulus value difference

INUNG YorL* vy - n=100,

T* CiELABus =66 (YY) 3216 (¥,=18,Y,/100<Y<=Y,0)
log(dY/dY,) = [1~(1/3,0)] loglf/Y,)

dYeo/dY,=2,92,y=3,0, 14=1/3,0=0,33
dY;g/dY,=1,00 §=65,49 Dy=-15,49
dYs,ddY,=0,34 Y,=18 dY=4,58

58 dY,/Y,=0,2544
gy

application
range

Y518
NN=3601 Y =90 T

BEX61-4A
log [(AY/Y) | (AYIY),] CIELABUS relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc’
T* CiELABus =66 (Y/Y))3 %16 (¥,=18, Y,/100<Y<=Y,0)
logl(dY)/(AY/Y),] = - (1/3.0) logi/Y,)

(dY/Yyo/(dY/Y)=0,58,y=3,0, 14=1/3,0=0,33

(dY/YYg/(dY/Y’ 1,oq §=65,49 D,=-15,49

(AY/Yd(dYM=170 Y,=18 d‘g:4,58app” T
range

L~
log[(dY/YY(dY/Y)]=0, m;=—0,33
T*,=50, dY,=4,58 dY,/Y,;=0,2544 |

1Y,=18
YR=3.67 =90 T

BEX61-6A
log [(Y/AY) I (YIAY),] CIELABUS relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nC
T* CieLABus =66 (YY) 316 (¥,=18, Y, /100<Y<=Y,0)
logl(Y/dY)/(Y/dY),] = (1/3,0) logiY/Y,)

(Y/dYbOI(Y/dY), L 70 rs,o 14=1/3,0=0,33
(YA ) g/(YIdY)= 49 D,=-15,49
(YIdYY J(YIdY o 58 Yu 18, dY=4,58

log[(Y/dY)(Y/dY),]=0, m,=0,33

- 1
= 1 application
1 range
1y =18
NNE3601 Ya =90 T
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